Pracovni list:

Vyg¢isli rovnice:

HgO — Hg + O

S + O, - SO,

C+ 0O, - CO,

Ca + O, - CaO

Fe + O, —» Fey0O3

Cu + O, —» CuO

H, + Cl, —» HCI

Na + HCI —- H, + NaCl

Zn + HCl — ZnCl, + H;
CuO + HCI — H,O + CuCl,

Pracovni list:

Vyg¢isli rovnice:

HgO — Hg + O,

S + O, - SO,

C+ 0, - CO,

Ca + O, - CaO

Fe + 30, —» Fe,03

Cu + O, —» CuO

H, + Cl, — HCI

Na + HCI —- H, + NaCl

Zn + HClI — ZnCl, + H>
CuO + HClI — H,O + CuCl,

NaCl + H,SO, — HCI + NaySO,
Na + H,O — NaOH + H;

Ca + H,O — Ca(OH), + H;

Na,O + H,O — NaOH

NaOH + SO, — H,O + Na,SO3
CuCl, + NaOH — Cu(OH), + NaCl
FeCl; + NaOH — Fe(OH); + NaCl
HCI + O, — H,O + Cl;

NaCl + H,O — Cl, + H, + NaOH
Sn + Cl, —» SnCl,

Sb + Cl; —» SbCls

NaCl + H,SO, — HCI + Na,SO,
Na + H,O — NaOH + H,

Ca + H,O — Ca(OH); + H;

Na,O + H,O — NaOH

NaOH + SO, — H,O + Na,SO3
CuCl, + NaOH — Cu(OH), + NaCl
FeCl; + NaOH — Fe(OH); + NaCl
HCI + O, - H,O + Cl,

NaCl + H,O — Cl, + H, + NaOH
Sn + Cl, —» SnCl,

Sb + Cl; —» SbCls



